



TOWN MUNICIPAL CORPORATION MANGHOPIR (WEST) KARACHI

NO. E.E/M&E/TMC/M-PIR/W/16/2025

Dated: 26-12-2025

TENDER NOTICE

(Through Website of SPPRA)

Tender is sealed covers are invited for the following work (s) through SPPRA Rules 2010.
(Amended-2013) from the firms having adequate experience in the relevant field.

1. Tender Schedule shall be as follows:-

S.#	Name of Work	E/Cost	Bid Security 5%	Cost of Tender
01	Providing and Fixing of Street Light system at Main Road And Link Road MPR Colony and Surrounding Area of TMC Manghopir West.	Rs:1989055/=	Security Deposit 5%	Rs:2000/=

SCHEDULE	DATE & TIME	VENUE
Receiving of Application & Issuance of Tender	<u>29-12-2025 to 12-01-2026</u> <u>During Office Hour</u>	TMC Manghopir (West) Office Gram Chesham.
Dropping of Tender	<u>12-01-2026</u> <u>12:00 PM</u>	Executive Engineer (M&E) Office
Opening of Tender	<u>12-01-2026</u> <u>12:30 PM</u>	Executive Engineer (M&E) Office

2. In Case of any reason, if the tender are not responded on the above dates the next date of submission and opening will be and tender documents will also be available up to.
3. The Tender document s will be issued to the firms on submission of application in their original letter head along with Pay Order of Tender cost in Favor of T.M.C. (West) as mentioned above.
4. The Bid Security as mentioned above in shape of Pay Order /Bank Guarantee in favor of T.M.C. (West) shall must be enclosed with tender documents without which the tender will be treated as cancelled.
5. The contractor must mention their complete and correct present postal address in tender document & quote the rates both in Words and figures. Incomplete /Conditional tenders will not be accepted.
6. The success full bidder will furnish a performance guarantee at the time of agreement in shape of Pay Order /Bank guarantee equal to 5% of Sanctioned cost. This guarantee will be release after completion of work.
7. An amount equal to 5% of Contractual Value will be deducted as retention money, as per condition of contract which will be released after successful expiry of maintenance period.
8. The Tender Document can be had from the office as mentioned above on any working day. During office hour except the date of Opening.

9. All the Tender shall be dropped on as per above schedule up to 12:30 PM and will be opened by the Tender Opening Committee in the Office of the Superintendent Engineer (M&E) T.M.C. (West) Karachi at 12:30 PM in presence of the Contractor who wish to be present.
10. In case the date of sale/ dropping/ opening declared as a public holiday by the Government, or non-working day due to any reason the next official working day shall be deemed to be the date for sale submission and opening of tenders at same time.
11. The bidder shall be attached all evidence in compliance of the eligibility & minimum criteria already mentioned in the bidding documents.
12. The procuring agency my reject all or any bids or proposals at any time prior to the acceptance of a bid or proposal, subject to the relevant provision of SPPRA Rules 2010.
13. Canvassing in connection with tenders is strictly prohibited and submitted by the contractors who report canvassing will liable for rejection.
14. Tender will not be received after the schedule time.

15. Eligibility

1. Valid PEC in C-06 & Above Category & relevant field specialization.
2. NTN Certificate.
3. Valid Professional Tax.
4. S.R.B Certificate.
5. Bank Statement.
6. Relevant Experienced.
7. Turnover at least Three year.
8. Rule 48 Of Electricity Rules 1937 States That All Government And Sami Government Department, Electrical Installation Work To The Contractors Holding Valid Sindh Government Electrical Contractor License. Only Use the Electrical License my Self Not Allowed to Other Person Authority.

EXECUTIVE ENGINEER (M&E)
T.M.C. Manghopir (West) Karachi

Not to be published:

Director Information T.M.C. (West)

Enclosed 10 Copies with a request to publish in not more than three leading (03) Newspaper of Urdu, English & Sindhi Speech.

Director (CB) SPPRA Along With Bidding Documents,

With a request to upload on SPPRA (Authority) Web Site, and Issue I.D. Number.

C.C. to:-

1. Chairman Manghopir Town (West) Karachi
2. P.S. to Managing Director SPPRA.
3. Office File.

EXECUTIVE ENGINEER (M&E)
T.M.C. Manghopir (West) Karachi



**TOWN MUNICIPAL CORPORATION MANGHOPIR (WEST) KARACHI
OFFICE OF THE EXECUTIVE ENGINEER (M&E)**

NAME OF WORK: Providing and Fixing of Street Light system at Main Road And Link Road MPR Colony and Surrounding Area of TMC Manghopir West.

E/Cost: Rs:1989055/=	E/Money 05% S.D	T/Limit 45 Days	Penalty 500/- PD.
----------------------	-----------------	-----------------	-------------------

SCHEDULE PART "A"				
S. No	Description	Quantity	Rate/Per	Amount
01	P/L of (Main & Sub Main PVC insulated and PVC Sheeted with single core copper Conductor 300/500 volts size 3/.029 as per site requirement and instruction of Engineering In charge.	13388.05 Mtr.	69/=	923776/=
02	Providing & laying (main or sub main) PVC Insulated & PVC Sheeted with single core copper Conductor 250/400 volts of Size 7.029 as per site requirement and instruction of Engineering In charge.	342.91Mtr	118/=	40463/=
NON SCHEDULE PART "B"				
03	Providing & Fixing of Moon Light with Led Bulb 40/w, Top Cover jali and Holder, As required as per Approval of Engineering In charge.	200 Nos.	3550/=	710000/=
04	Providing & Fixing of 10-Amps switch On/Off system With Board As per site requirement and instruction of Engineering In charge.	200 Nos.	160/=	32000/=
05	P/F of IPC (Connector) Best Quality for connection existing light from Main supply as per site requirement and the Approval of Engineering In charge.	410 No's	450/-	184500/=
06	P/F of PVC Tape for connection best quality as required as per approval of Engineering In charge.	40 No's	90/=	3600/=

EXECUTIVE ENGINEER (M&E)
TMC MANGHOPIR (WEST)

I / we hereby quoted _____ above / Below the SR.

Signature _____ Address _____



TOWN MUNICIPAL CORPORATION MANGHOPIR KARACHI WEST SECTOR 11-E, SHAHRA-E-ORANGI, ORANGI TOWN KARACHI

BIDDING DATA WORK NO: 01

(a). Name of Procuring Agency **TOWN MUNICIPAL CORPORATION MANGHOPIR (WEST) KARACHI**
(b). Brief Description of Works: Providing and Fixing of Street Light system at Main Road And Link Road

MPR Colony and Surrounding Area of TMC Manghopir West.

(c). Procuring Agency's address: **SECTOR 11-E, SHAHRA-E-ORANGI, ORANGI TOWN
KARACHI**

(d). Estimated Cost: **Rs.1989055/=**

(e). Amount of Bid Security: **5% S.D**

(f). Period of Bid Validity (days): **45 Days**

(g). (i). Security Deposit: - (i/c bid Security): **05% of Contract/Sanction Amount**
(ii) **5% Retention Money of bill amount will be deducted from Running Bill.**

(h). Percentage, if any, to be deducted from bills: **8% Income Tax**

(i). Deadline for Submission of Bids along with time: **Dated 10-01-2026 at 12.00 P.M.**

(j). Venue, Time and Date of Bid Opening: **Office of the E.E (M&E), TMC Manghopir (West).
Sector 11-E, Shahra-E-Orangi, Orangi Town Karachi**
12:30pm on dated: **_____**

(k). Time for Completion from written order of commence: **45 Days**

(l). Liquidity damages: **Rs. 500/= Per Day** (0.05 of Estimated)

(m). Tender Cost Vide Pay Order No: **_____** Dated: **10-01-2026-**

(n). Amount: **_____ /= (Rupees _____)**

(o). Bidding Documents issued to: **M/s. _____**

CONTRACTOR SIGNATURE

EXECUTIVE ENGINEER (M&E)
TMC MANGHOPIR (West), Karachi